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The “In” and “Center” buttons operate identically to the use of the
middle mouse button. Note that zooming in, or out, causes the data to
be rescaled while centering just moves the display window keeping
the same scaling. Because centering does not re-scale, it may be
impossible to center,i.e., if the centering point is too close to either
end of the trace data set. For these cases the display will be centered
as much as possible,i.e., the display will either began at the start of
the run, or it will end with the end of the run.

�\äc�d�Mü;äwåOåçæ�ì
The “Full” button will cause the display to show the complete trace
file.
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The “Out %” button zooms out by the percentage in the “Zooming %”
text window. This percentage is set to 10% but can be reset by
modifying the number in the “Zooming %” text window. The
percentage is based on the current display so that if 1 second of a trace
is being shown and the zooming percent is 10%, the new display will
show 1.1 seconds of the trace and if 25 seconds is being shown the
new display will show 27.5 seconds of the display. If possible, the
display will be centered at the same point as the original display.

ý;é�ì�üqä1åOåçæ�ì?í

The “Pan” buttons operate much as would a horizontal scroll bar.
They move the display window over the data in the pan direction,
e.g., if you pan left you see data to the left of the current window. The
“Pan” buttons are used instead of a scroll bar because for large trace
files it is difficult to respond quickly enough to support smooth
scrolling. The value in “Panning %” is the amount the display is
moved. When you pan, a line will show the position of the old display
boundary,e.g., if you pan left by 20% a vertical line will appear 20%
of the way from the left edge.
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The “Off” button turns off the display of message edges (the default).

The “All” button turns on the display of all message edges.

The “Specified” button turns on the display of only those message
specified in the “From” and “To” lists. The from and to lists accept
sets of integers indicating the nodes between which message edges
are to be displayed,e.g., if “From” contains 1 3 and “To” contains 2

Receiving

Sending
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4, all message from 1 to 2 and 4, and from 3 to 2 and 4 will be shown.
The word “All” or “all” 1 can be used to indicate all nodes.

ã�	,	H�ïõôü;äwåOåçæ�ì
The changes in the “Display Controls” section do not take effect until
the “Apply” button is pressed.
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Execution The time spent executing (i.e., not blocked, idle or

flushing).

Send-Sync Blocked The total time spent blocked on synchronized
sends.

Send-Async blocked The total time spent blocked on asynchronous
sends.

Receive-Sync Blocked The total time spent blocked on synchronous
receives.

Receive-Async Blocked The total time spent blocked on asynchronous
receives.

Global Blocked The total time spent blocked for global operations.
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Write (Time) The total time spent writing.

Write (Vol.) The total volume (bytes) written.

Read (time) The total time spent reading.

Read (Vol.) The total volume (bytes) read.

Pack (time) The total time spent in pack operations.
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Pack (Vol) The volume of data packed (bytes).

Unpack (Time) The total time spent in unpack operations.

Unpack (Vol) The total volume of data unpacked (bytes).

nqf�=?D�=�dTD�=.�QRZ�\äwì1ÿ±åO¢¯æ�ì�ý�î»æ����ï¥�x17�9:<8l:dT[\9;tF36D�ó�ý;ù EVD�dTeg=c9��
Send Volume (Un-Blocked) The volume of messages sent using non-blocking

sends.

Send Count (Un-Blocked) The number of messages sent using non-blocking
sends.

Send Volume (Blocked) The volume of messages sent using blocking sends.

Send Count (Blocked) The number of messages sent using blocking
sends.

Recv. Volume (Un-Blocked) The volume of data received (in bytes) using non-
blocking receives.

Recv. Count (Un-Blocked) The number of messages received using non-
blocking receives.

Recv. Volume (Blocked) The volume of data received (in bytes) using
blocking receives.

Recv. Count (Blocked) The number of messages received using blocking
receives.

Wait State The time spent in wait states.

Time Blocked The time spent in blocked states.
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Totals (Time) The time running, the time blocked in

communications, the time blocked for global
operations, and the total time blocked for all
reasons.

Blocked (Time) The time blocked for sends, for receives, for global
operations, and the total time blocked.

Totals (Volume) The volume of data, in bytes, sent and the volume
received.

Send (Volume) The volume of data, in bytes, sent in each of the
modes synchronous, synchronous blocked,
asynchronous, and asynchronous blocked.

Receive (Volume) The volume of data, in bytes, sent in each of the
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modes synchronous, synchronous blocked,
asynchronous, and asynchronous blocked.

nqf�=?D�=�dTD�=�N�ý4î»æ�ÿ ¥mímí�æ�î'ý4î»æ��
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I/O (Time) The time spent in read and in write operations.

I/O (Vol) The volume of data (bytes) read and written.

Pack/Unpack (time) The time spent in pack and in unpack operations.

Pack/Unpack (Vol) The volume of data (bytes) packed and unpacked.

nqf�=?D�=�dTD�=�|�ý4î»æ�ÿ ¥mímí�æ�î'ý4î»æ��
�ï¥mí�tm3?D�EVfi=.ó�ý;ù EVD�dTeg=c98�
Blocked Time The time in wait states, the total blocked time, the

time blocked on receives and the time blocked on
sends.

Message Volume The volume sent in blocked mode and in non-
blocked mode and the volume received in blocked
and in non-blocked mode.

Message Count The number of messages sent and the number
received in blocked and in non-blocked mode.
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